x?—4x—A = (x+5)(x—B) = 2ol ©rh. A-B ] g5 F5hd?

@® -36 @ -54 (@)36

@ 54

® 64

B

x?—4x-A = (x+5)(x—B)
= x> - Bx+5x-5B
=x2+(5-B)x-5B
5—-B=-4,5B=A




T &4 g2 A2

oo

=

@ ab+1)+(b+1)=(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)?
@ +dx+4-y?=(x+y+2)(x-y+2)
@ (x+2y)? - (3x - 2y)? = —8x(x - 2y)

@ (x-3? +2(x-3) -8 = (x+ 1)(x—6)

B

® x-3=X =t o}H
(x-3)2+2(x-3)-8
=X>+2X-8

(X +4)(X-2)

(x-3+4)(x-3-2)

=(x+1)(x-5)




3. 2S5 32+ 10x+3 4 35

® x2-6x+9

3x2 +10x+3 = (3x+ 1)(x + 3)
@® (3x-1)y

@9(x+1)(x-1)

® (x-3)2

@ (x+4)(x-3)

® (3x+1)(2x-1)




X
o] ) ghe 2L

x(x+1D)x+2)(x+3)+1
=x(@O)x (x+1)(@)+1
=(x*+3x)(®) +1

(@) =Ag}sHH

A2 424 +1=(A+1)2=(®)?

® x+3 @ x+2
@x2+3 ® ¥ +3x+1

® x2+3x+2

@ x2 + 3x




x? = 2x—y? + 2y B JAFESfSAHY
(x+ay)(x—=by +c) 7F E1Ath ot a + b + ¢ 9] 222

a-2x-y?+2y=x2 -y -2(x-y)
= (x+y)(x-y) - 2(x-)
= (x-yx+y-2)
Ot a=-1,b=-1, c=-29B2 g+ b+c=—-4




6. 3x-20°3x-—ax+8 9 AL W, a o FS F5HH?

@ 11 @ 12 ® 13 @14 ® 15

B

3x2 —ax+8 = (3x-2)(x+ p)
=3x2+3px—2x-2p
=3x2+ (Bp-2)x-2p

-2p =28, p=—-40°]1,
3p—2=—a, a=14 °|t}.




O|ZFA X% + ax + b B A ot 2 x T AFE
B (x+4)(x-7) 2&2 QJAF4ES) ol S2 AT EX B
(x=2)(x-10) 2 &2 QI5Hal stglet. o] wl, a — b 9] 27
@ 10 @ 12 ®)16 @ 18 ® 20
B ~
Zro] E o] A2 (x+4)(x—7) O] B2 x2 - 3x—28 0|1,
x FO ASE AR Hepong AFpghe 98 ot}
go] &F o]ZAL (x-2)(x—10) O]E& x2 - 12x + 20 °] L,
Ao ZF Hokong x o] A4E ~12 o|th
a=-12, b=-28
a-b=-12-(-28) =16




a-3=AZR x%stH
A2-BA+6=(A-3)(A-2)
=(a-6)(a-5)




9.

(1 2 = (x4 2= 1) = 6(y- 12 & Ao a2

@ (x+3y-1)(x-2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x-2y) @) (x -3y + 5)(x + 2y)
® (x=3y—-4)(x-2y+1)

B

x+2=A, y-1=B= A4

A2 - AB-6B® = (A +2B)(A - 3B)
={(x+2)+2(y-1)} {(x+2)-3(y-1)}
=(x+2+2y-2)(x+2-3y+3)
=(x+2y)(x—-3y+5)




10, x° —dxy +4y* - 22 & AEsiohed AHgH Ada-2sh
)

T2 (Fa>0,b>0

® a* +2ab + b = (a + b)?
@)a? - 2ab + b? = (a - b)?
@)a?-1* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

x2 —4dxy + 4y% - 22
=(x-2y)2-2> = a®-2ab +b* = (a-b)?
= (x=2y+2)(x~2y-2) a’ - b* = (a + b)(a~b)




11. a+b=5, ab=-10 L W, (a—b)* 9] Zt2?

® -5 @ 5 ® -65 @65 ® 45

B

(a-b)* = (a+b)* - dab
=52 -4x(-10)
=25+ 40
=65




CVENZ . EB-E

12. «x 5 Y= A ], x2 —y? o] Fh2?

@V @23 022 @-v6 0

=y = (x+y)(x-y)
V3+ V2 V-2
2 T 2
V3+V2 V3-2
2 2

~(2V3 2V2
“\2 )
= V3x V2= 16




a® —a?b+ ab® + ac® — b3 — bc?

13.

na-b=0,a=>b%l o5




ol

5] std? (,

14. Vx=a-29 W, Vx—4da+12- Vx +2a-3 & 7t

2<a<4)
@-2a+5 @ 2a-5 ® 5
@ —2a-3 ® -2a+3

B *
Vix=a-29 FHS AFotH x=d’-4a+4

Va2 —8a+ 16 — Va2 —2a + 1

= /(@a-4)2- /(a-1)?

=la—-4|—la-1]

=-a+4-a+1=-2a+5




15.

(@] +36x+[©] = (2x+[©)*

632 + 1+ (@] = (B3r+5)(2x + @)

D 6.0 @ 5,0, ® 06
® 0@ ®e.e

B

@:22=4
©:4x©=36, .©=9
©: 92 =281

@:10+3x@=1,.@=-3
®: (-3)x5=-15




